
HARDWARE INCLUDED: 

300-269

QTY. HARDWARE APPLICATION 

10 M6 X 12 FLAT WASHER INTAKE MOUNTING 

10 M6 X 1.0 X 50MM HEX HEAD SCREW INTAKE MOUNTING 

6 5/16-18 X .75" HEX HEAD FLANGE SCREW FUEL RAIL BRACKETS TO MANIFOLD 

6 5/16-18 X .625" BUTTON HEAD SCREW FUEL RAILS TO BRACKETS 

1 1/4-20 X .875" BUTTON HEAD SCREW MAP SENSOR SCREW 




